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BOTANY — GENERAL

Paper : GE/CC-2
Full Marks : 50

@211:! Sm.)-Botany-G/(GE/CC-2)/CB CS)

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Answer any five questions : 253

(a)
(b)
(c)
(d)
(e)
®
(8)
()
@
)

~

What is Prothallus? QTP

What do you mean by ‘Index fossil’? MURALIDHAR GIRLS’ COLLEGE
What is Sorosis? Give example. LI,,BRARV

What do you mean by phyllogenetic system of classification?

What is progymnosperm? Give example.

What is Ovuliferous Scale? Where it is found?

What is marginal placentation?

What is ligule? Where it is found?

What types of fruits are found in Asteraceae and Lamiaceae?

Write two differences between Spore and Pollen grain.

2. Answer any two questions : 5x2

(2)
(b)
(©
CY

Write economic importance of Pteridophytes.
Discuss the importance of fossil study.
Write a short note on Williamsonia (reconstructed),

Discuss the advanced features of Asteraceae family.

3. Answer any three questions :

(a)

(b)

(©

What is Coenosorus? In which plant it is found? Briefly describe with labelled diagram the
structure of spore bearing organ of Preris. 2+1+7

Describe the male cone of Cycas with suitable diagram. Write two fern-characters of Cycas.
What is polyembryony? 64+2+2

Discuss the different factors of fossilization. Give an account on applications of Palynology.
5+5
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(d) Discuss different types of Racemose Inflorescence with examples. 10

(e) Write the diagnostic characters of the following families. Mention scientific name of one economically
important plant from each family.

(i) Cucurbitaceae

(i1) Solanaceae. (4+1)x2

MURALIDHAR GIRLS' COLLEGE
LIBRARY



